Answer on Question #57347 - Math — Algebra
Question

How many solutions are there for the system shown below?

{xz +y2 =25
x—y?=-5
A: 3
B: 4
C:2
D:1

Solution

{x2+y2=25:{y2=X+5 :{ y2=x+5 =>{ y2=x+5
x —y%=-5 x?+y? =25 x2+x+5=25 x2+x—-20=0

y2:x+5 {y2:x+5 {yzzo {y:O

_ _ X =-5 x=-5 X =-5
EN [x— 5 {y2=x+5=> {y2= :‘{y=i3
x=4 x =4 x =4 x =4

Answer: the system has 3 solutions (A).

Question

For the system shown below, what are the coordinates of the solution that lies in quadrant 1?
Write your answer in the form (a, b) without using spaces.

Solution

{x2+4y2=100:>{x2=4y+20 :>{ x2 =4y +20 :{x2=4y+20
4y — x? = =20 x% + 4y? =100 4y2 + 4y + 20 = 100 y2+y—-20=0

x? = 4y +20 [{x2:43’+20 [{x2=0 {x=0

= y =-=5 =>| y =5 ly:_5=> y==5
x? =4y + 20 x? =36 x =16

y=4 [{ y=4 {y=4 {y=4

(x,y) = (6,4) is a solution that lies in quadrant 1.

Answer: (6,4).
Question

What are all of the ordered pair solutions for the system of equations shown below?



{xz + 4y? = 100
4y — x* = =20

Solution
From the previous part solutions for the system of equations are
(—6,4),(6,4),(0,-5).

Answer: (—6,4),(6,4),(0,—5).
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